MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90°HEMIRSIFMH

90°BSP FEMALE FLAT SEAT

re 18 E %% HOSEBORE R~ DIMENSIONS

PART NO. THREAD E ARRWE DN | 52 DASH A c H S2

22291-04-04 G1/4"X19 6 04 30 8 34.5 19 C
22291-06-06 G3/8"X19 10 06 85.8 9 41.3 22

22291-08-08 G1/2"X14 12 08 41 10.5 48 27

22291-12-12 G3/4"X14 20 12 65.5 18.5 63.5 32

22291-16-16 G1"X11 25 16 76.7 15.5 70 41
22291-20-20W G1.1/4"X11 32 20 91.5 15.5 82.5 50
22291-24-24W G1.1/2"X11 40 24 109.4 17.5 98.5 55

22291 F I RPREBATREAKE. 2 WBHATESRERSHH22292-XX-XX,

NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22292-XX-XX.

EEPIRY 60°JMEE

BSP FEMALE 60°CONE

c A ‘ g2 B4 E ®& HOSE BORE R~ DIMENSIONS
RARITENO. ThREADE AFRATEDN #=5 DASH A © S2
w [ 22611-02-03 G1/8"X28 5 03 15 5.5 14
8) 22611-02-04 G1/8"X28 6 04 15 5.5 14
/ 22611-04-03 G1/4"X19 5 03 17 5.5 19
22611-04-04 G1/4"X19 6 04 18 5.5 19
S2 22611-04-05 G1/4"X19 8 05 18 5.5 19
22611 22611-04-06 G1/4"X19 10 06 18 5.5 19
22611-06-04 G3/8"X19 6 04 19 6.3 22
22611-06-05 G3/8"X19 8 05 19 6.3 22
c. A 22611-06-06 G3/8"X19 10 06 19.5 6.3 22
7 22611-06-08 G3/8"X19 12 08 19.5 6.3 22
22611-08-06 T G1/2"X14 10 06 21 7.5 27
60 > w 22611-08-08 G1/2"X14 12 08 21.5 7.5 27
22611-10-08 G5/8"X14 12 08 22 9.5 30
+ 22611-10-10 G5/8"X14 16 10 23.5 9.5 30
82 22611-12-08T G3/4"X14 12 08 22 10.9 32
22611-12-10 G3/4"X14 16 10 24 10.9 32
22611-T 22611-12-12 G3/4"X14 20 12 24 10.9 32
22611-16-12T G1"X11 20 12 24 1.7 41
22611-16-14 G1"X11 22 14 26 11.7 41
c A 22611-16-16 G1"X11 25 16 27 1.7 41
u 22611-20-16T G1.1/4"X11 25 16 27.5 11 50
s N e 22611-20-20W G1.1/4"X11 32 20 30.5 11 50
22611-24-20T G1.1/2"X11 32 20 32 13 55
60°y # 22611-24-24W G1.1/2"X11 40 24 32 13 55
22611-32-24T G2"X11 40 24 30 16 70
< 22611-32-32W G2"X11 50 32 31.9 16 70

iE 1 FRPREATHRAKE. 2UFRATESRERSHII22612-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22612-XX-XX.

22611-W

C32



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

HEPIRS 60°JMEEmMW A

BSP FEMALE 60°CONE DOUBLE HEXAGON

22611D
®e 125 E %% HOSE BORE R~ DIMENSIONS

FARTNO, LA ECEE AFRAFEDN #2 DASH A G S1 s2
22611D-04-04 G1/4"X19 6 04 23.5 55 19 19
22611D-06-06 G3/8"X19 10 06 26.5 6.3 22 22
22611D-08-08 G1/2"X14 12 08 31 7.5 27 27
22611D-10-08 G5/8"X14 12 08 32 9.5 30 30
22611D-12-08 G3/4"X14 12 08 33 10.9 32 32
22611D-12-12 G3/4"X14 20 12 34 10.9 32 32
22611D-16-16 G1"X11 25 16 35.5 11.7 41 41
22611D-20-20 G1.1/4"X11 32 20 43.5 11 50 50

iE 1 FRPRSETREARE, 2MFATEFERERSE922612D-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22612D-XX-XX.

HE PR 60°JMEEMW A

BSP FEMALE 60°CONE DOUBLE HEXAGON

ol

22611D-SM
re W E & HOSE BORE R~ DIMENSIONS

LSS lslil=o0]2 AFRAEDN #72 DASH A c s1 s2
22611D-04-04SM G1/4"X19 6 04 23 5.5 14 19
22611D-06-06SM G3/8"X19 10 06 25 6.3 17 22
22611D-08-08SM G1/2"X14 12 08 28.5 7.5 22 27
22611D-10-08SM G5/8"X14 12 08 30 9.5 22 30
22611D-12-08SM G3/4"X14 12 08 32.1 10.9 27 32
22611D-12-12SM G3/4"X14 20 12 32.5 10.9 27 32
22611D-16-16SM G1"X11 25 16 36.3 11.7 32 41
22611D-20-20SM G1.1/4"X11 32 20 41.5 11 41 50

i A RPRASHTRARE. 2NFATEERERSHI22612D-XX-XXSM,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22612D-XX-XXSM.

C33



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

45°EE MR 60°IMEHE

45° BSP FEMALE 60°CONE

22641 22641-W 22641-T
re B E #%& HOSE BORE R~ DIMENSIONS
AN, Uit ATRAEDN #=S DASH A c H S2
22641-04-04 G1/4"X19 6 04 42.3 5.5 20.2 19
22641-06-04 G3/8"X19 6 04 43.2 6.3 21 22
22641-06-05 G3/8"X19 8 05 45.3 6.3 22 22
22641-06-06 G3/8"X19 10 06 46.9 6.3 22.6 22
22641-08-06T G1/2"X14 10 06 48.1 75 23.9 27
22641-08-08 G1/2"X14 12 08 61.1 7.5 26.1 27
22641-10-08 G5/8"X14 12 08 61.4 9.5 26.5 30
22641-10-10 G5/8"X14 16 10 72.6 9.5 27.8 30
22641-12-08T G3/4"X14 12 08 61.8 10.9 26.9 32
22641-12-10 G3/4"X14 16 10 73 10.9 28.2 32
22641-12-12 G3/4"X14 20 12 79.2 10.9 31.8 32
22641-16-12T G1"X11 20 12 80.8 11.7 33.4 41
22641-16-16 G1"X11 25 16 88.4 1.7 34.2 41
22641-20-16T G1.1/4"X11 25 16 85.3 11 31.1 50
22641-20-20W G1.1/4"X11 32 20 98.8 11 38 50
22641-24-24W G1.1/2"X11 40 24 116.8 13 455 55
22641-32-32W G2"X11 50 32 135.7 16 52.7 70

NRPRSATRAKE. 2UFERTERRERSHI22642-XX-XX,
NOTE.1.For use with bra|ded hoses. 2.If use with spiral hoses, hose fitting series number is 22642-XX-XX.

A5°RERIRE 60°IMEENI A

45°BSP FEMALE 60°CONE DOUBLE HEXAGON

. r= B4 E & HOSE BORE R~ DIMENSIONS

ﬁa@zﬂmﬁ PART NO. THREADE | /\#xi#DN | %2 DASH | A c H | s1 | s2
,/‘

X C[HHIE Foo641p-04-045M|  G1/a"x19 6 04 446 | 55 | 225 | 14 19
9 NN 22641D-06-06SM|  G3/8"X19 10 06 516 | 6.3 | 26.9 | 17 | 22
Y 22641D-08-08SM |  G1/2"X14 12 08 66 | 7.5 | 31 22 | 27
22641D-10-08SM|  G5/8"X14 12 08 66 | 95 | 31 22 | 30
J £z 22641D-12-08SM |  G3/4"X14 12 08 66 | 10.9 | 315 | 27 32
22641D-SM 22641D-12-12SM | G3/4"X14 20 12 855 | 10.9 | 37.4 | 27 | 32
22641D-16-16SM|  G1"X11 25 16 947 | 11.7] 405 | 32 | 41

i 1 RPRSATRAKRE. 2 FRATERRERSKI22642D-XX-XXSM,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22642D-XX-XXSM.

C34



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90°REMIEN 60°JMEM

90°BSP FEMALE 60°CONE

22691 22691-W 22691-T
®e B4 E %% HOSE BORE R~ DIMENSIONS

SRS ILEEEEE /AFRAFEDN #*Z DASH A 8 H s2
22691-02-03 G1/8"X28 5 03 26.5 5.5 31.5 14
22691-02-04 G1/8"X28 6 04 30 55 34.5 14
22691-04-03 G1/4"X19 5 03 26.5 55 33.5 19
22691-04-04 G1/4"X19 6 04 30 5.5 36.5 19
22691-04-05 G1/4"X19 8 05 33 55 39.5 19
22691-04-06 G1/4"X19 10 06 30 55 36.5 19
22691-06-04 G3/8"X19 6 04 30 6.3 37.7 22
22691-06-05 G3/8"X19 8 05 33 6.3 40.7 22
22691-06-06 G3/8"X19 10 06 35.3 6.3 43 22
22691-08-06T G1/2"X14 10 06 5.8 7 43.3 27
22691-08-08 G1/2"X14 12 08 41 7.5 51 27
22691-08-10 G1/2"X14 16 10 56.5 7.5 55.5 27
22691-10-08 G5/8"X14 12 08 41 9.5 51.5 30
22691-10-10 G5/8"X14 16 10 56.5 9.5 56 30
22691-12-08T G3/4"X14 12 08 41 10.9 52.1 32
22691-12-10 G3/4"X14 16 10 56.5 10.9 56.6 32
22691-12-12 G3/4"X14 20 12 65.5 10.9 66 32
22691-16-12T G1"X11 20 12 65.5 1.7 68.3 41
22691-16-14 G1"X11 22 14 71.2 1.7 69.3 41
22691-16-16 G1"X11 25 16 76.7 1.7 73.8 41
22691-20-16T G1.1/4"X11 25 16 78 11 69.5 50
22691-20-20W G1.1/4"X11 32 20 91.5 11 84.3 50
22691-24-24W G1.1/2"X11 40 24 109.4 13 103 55
22691-32-32W G2"X11 50 32 131.8 16 123.3 70

iE 1 FRPRSATHRAKE. 2UFRATESRERSBI22692-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22692-XX-XX.

C35



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90°EE IR 60°JMEM A

90°BSP FEMALE 60°CONE DOUBLE HEXAGON

R B E #%& HOSE BORE R~ DIMENSIONS
PRGN, THREADE | /DN | #2DASH | A | C H | s1]|s2
22691D-04-04 G1/4"X19 6 04 30 | 55 | 405, 19 | 19 C
22691D-06-06 G3/8"X19 10 06 353 | 6.3 | 49 | 22 | 22
T 22691D-08-08 G1/2'X14 12 08 41 | 75 | 58 | 27 | 27
22691D-12-12 G3/4"X14 20 12 655 | 10.9| 74 | 32 | 32
22691D-16-16 G1"X11 25 16 766 | 17| 82 | 41 | 41
o

i A RPRASHATRAKRE. 20FERTERRERSHI22692-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22692-XX-XX.

60° 22691D

90°EE IR 60°JMEFM A

90°BSP FEMALE 60°CONE DOUBLE HEXAGON

o it # & HOSE BORE R+ DIMENSIONS

PARTNO. THREADE | A\#kA#DN | 58S DASH| A | C | H | S1 | 82

22691D-04-04SM | G1/4"X19 6 04 30 | 55 | 405 14 | 19

22691D-06-06SM | G3/8"X19 10 06 353 | 6.3 | 49 | 17 | 22

- 22691D-08-085M | G1/2'X14 12 08 41 | 75| 88 | 22 | 27
22691D-10-08SM | _G5/8"X14 12 08 41 | 95| 8 | 22 | 30

22691D-12-08SM | G3/4"X14 12 08 415 | 109 58 | 27 | 32

O 22691D-12-12SM|__G3/4"X14 20 12 655 | 109 | 74 | 27 | 32
22691D-16-16SM | G1"X11 25 16 767 | 117 | 828 | 32 | 41

60° 22691D-SM E 1 FRPRESRTRERE. 2 MFRTESERERSHH22692D-XX-XXSM,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22692D-XX-XXSM.

90°HERIMIEN 60°JMEH

90°BSP COMPACT FEMALE 60°CONE

A r= B E #%#& HOSEBORE R~ DIMENSIONS
s1 v—_l PART NO. THREAD E AFRMZDN| #2 DASH A © H S1 | S2
TN | 22691K-04-04 G1/4"X19 6 04 17.5 5.5 18.5 11 19
22691K-06-04 G3/8"X19 6 04 20 6.3 23 16 22
22691K-06-05 G3/8"X19 8 05 20 6.3 23 16 22
T 22691K-06-06 G3/8"X19 10 06 20 6.3 24 16 22
22691K-08-06 G1/2"X14 10 06 23 7.5 26.5 19 27
(@] v 32 22691K-08-08 G1/2"X14 12 08 2315 7 28.5 19 27
22691K-10-10 G5/8"X14 16 10 25 9.5 | 29.2 22 30
>é 22691K-12-12 G3/4"X14 20 12 27.5 10.9 33 27 32
60° 22691K-16-16 G1"X11 25 16 32.5 11.7 | 38.1 33 41

i N RPREATRAKRE. 2MFRATERRERSH22692K-XX-XX,

22691K NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22692K-XX-XXSM.

C36



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

EHIORFSAIRNEHE

ORFS FEMALE FLAT SEAT (ISO 12151-1--SAE J516)

C A c A
N el
- | S
w L & [[ LI
S2 \ S2
24211 24211-T 24211-W

g2 #BaE %% HOSE BORE R~ DIMENSIONS
Al o8 THREAD E AFRAEZEDN #x2 DASH A (o} S2
24211-04-04 9/16"X18 6 04 22.5 8.5 19
24211-04-05 9/16"X18 8 05 22.5 8.5 19
24211-04-06 9/16"X18 10 06 22.5 8.5 19
24211-06-04T 11/16"X16 6 04 23.5 10 22
24211-06-05T 11/16"X16 8 05 23.5 10 22
24211-06-06 11/16"X16 10 06 25.5 10 22
24211-06-08 11/16"X16 12 08 26 10 22
24211-08-05T 13/16"X16 8 05 25 11 27
24211-08-06T 13/16"X16 10 06 25 11 27
24211-08-08 13/16"X16 12 08 28 11 27
24211-08-10 13/16"X16 16 10 29 11 27
24211-10-08T 1"X14 12 08 29.5 13.5 30
24211-10-10 1"X14 16 10 33.5 13.5 30
24211-10-12 1"X14 20 12 8.5 13.5 30
24211-12-08T 1.3/16"X12 12 08 30.5 15 36
24211-12-10T 1.3/16"X12 16 10 31.5 15 36
24211-12-12 1.3/16"X12 20 12 35 15 36
24211-12-16 1.3/16"X12 25 16 36 15 36
24211-16-12T 1.7/16"X12 20 12 35 14.8 41
24211-16-14T 1.7/16"X12 22 14 34 14.8 41
24211-16-16T 1.7/16"X12 25 16 35 14.8 41
24211-16-20 1.7/16"X12 32 20 39.5 14.8 41
24211-20-16T 1.11/16"X12 25 16 35 15 50
24211-20-20W 1.11/16"X12 32 20 39.5 15 50
24211-20-24W 1.11/16"X12 40 24 39.5 15 50
24211-24-20T 2"X12 32 20 36 14.8 60
24211-24-24T 2"X12 40 24 36 14.8 60

i 1 RPRASHETRARE. 2MFRATEERERSHII24212-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 24212-XX-XX.

C37



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

45°EHIORFSHERB T H

45°0ORFS FEMALE FLAT SEAT (ISO 12151-1--SAE J516)

i C
a{[©) M/
¢ S2
24241 24241-T 24241-W
r= 18457 E & HOSE BORE R~ DIMENSIONS

TN THREADE AFRHEDN %2 DASH A H c s2
24241-04-04 9/16"X18 6 04 45.5 23.4 8.5 19
24241-04-05 9/16"X18 8 05 47.6 243 8.5 19
24241-04-06 9/16"X18 10 06 49.2 249 8.5 19
24241-06-04T 11/16"X16 6 04 39.5 17.4 10 22
24241-06-05T 11/16"X16 8 05 42.3 19 10 22
24241-06-06 11/16"X16 10 06 51.7 27.4 10 22
24241-06-08 11/16"X16 12 08 63.9 29 10 22
24241-08-06T 13/16"X16 10 06 44.6 20.3 11 27
24241-08-08 13/16"X16 12 08 65.3 30.4 1 27
24241-08-10 13/16"X16 16 10 76.5 31.7 11 27
24241-10-08T 1"X14 12 08 58.2 23.3 13.5 30
24241-10-10 1"X14 16 10 79.7 34.9 13:5 30
24241-10-12 1"X14 20 12 86.5 38.4 13.5 30
24241-12-08T 1.3/16"X12 12 08 58.2 23.3 15 36
24241-12-10T 1.3/16"X12 16 10 69.4 24.6 15 36
24241-12-12 1.3/16"X12 20 12 87.6 39.5 15 36
24241-12-16 1.3/16"X12 25 16 95.3 41 15 36
24241-16-12T 1.7/16"X12 20 12 74 29.6 14.8 41
24241-16-14T 1.7/16"X12 22 14 78.7 28.5 14.8 41
24241-16-16T 1.7/16"X12 25 16 84.4 29.7 14.8 41
24241-16-20 1.7/16"X12 32 20 103.8 46.1 14.8 41
24241-20-16T 1.11/16"X12 25 16 80.9 32.7 15 50
24241-20-20W 1.11/16"X12 32 20 111.2 49 15 50
24241-20-24W 1.11/16"X12 40 24 123.6 52.9 15 50
24241-24-20T 2"X12 32 20 94.5 33.8 14.8 60
24241-24-24T 2"X12 40 24 108.5 37.7 14.8 60

E 1 RPRSHETRARE, 2MFTATESRRERSEI2424-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 24242-XX-XX.

C38



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90°%4] ORFSHIZLIEE

90°ORFS FEMALE FLAT SEAT (ISO 12151-1--SAE J516)

T
O
24291 24291-T 24291-W
®= B E ##& HOSE BORE R~ DIMENSIONS

Eeillng THREAD E AFRKEDN #52 DASH A H c s2
24291-04-04 9/16"X18 6 04 30 41 8.5 19
24291-04-05 9/16"X18 8 05 B8] 44 8.5 19
24291-04-06 9/16"X18 10 06 35.3 46.3 8.5 19
24291-06-05T 11/16"X16 8 05 33 37.5 10 22
24291-06-06 11/16"X16 10 06 35.3 49.8 10 22
24291-06-08 11/16"X16 12 08 41 55 10 22
24291-08-06T 13/16"X16 10 06 35.3 39.8 11 27
24291-08-08 13/16"X16 12 08 41 57 11 27
24291-08-10 13/16"X16 16 10 56.5 61.5 11 27
24291-10-08T 1"X14 12 08 41 46 13.5 30
24291-10-10 1"X14 16 10 56.5 66 13.5 30
24291-10-12 1"X14 20 12 65.5 75.5 13.5 30
24291-12-10T 1.3/16"X12 16 10 56.5 51.5 15 36
24291-12-12 1.3/16"X12 20 12 65.5 77 15 36
24291-12-16 1.3/16"X12 25 16 76.7 83.5 15 36
24291-16-12T 1.7/16"X12 20 12 65.5 63 14.8 41
24291-16-14T 1.7/16"X12 22 14 71.2 63 14.8 41
24291-16-16T 1.7/16"X12 25 16 76.9 67.5 14.8 41
24291-16-20 1.7/16"X12 32 20 91.5 96 14.8 41
24291-20-16T 1.11/16"X12 25 16 76.7 67.5 15 50
24291-20-20W 1.11/16"X12 32 20 93 100 15 50
24291-20-24W 1.11/16"X12 40 24 109.4 113.5 15 50
24291-24-20T 2"X12 32 20 91.5 78.5 14.8 60
24291-24-24T 2"X12 40 24 109.4 92 14.8 60

i 1RPRSETREAKE. 2MBATEERERSHIE24292-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 24292-XX-XX.

C39



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

il JIC RIRA74°AIHEE

JIC FEMALE 74°CONE SEAT (SAE J514)

C A ‘ C A
N %@ - C
w I 74°| w
> S2
26711 26711-T
rRe B E #%#& HOSEBORE R~t DIMENSIONS

AR NG, ILEELEE AFRAEDN #xS DASH A C S2
26711-04-03 7/16"X20 5 03 14.5 9 15
26711-04-04 7/16"X20 6 04 15 9 15
26711-05-04 1/2"X20 6 04 15.5 9.5 17
26711-05-05 1/2"X20 8 05 15.5 9.5 17
26711-05-06 1/2"X20 10 06 15.5 9.5 17
26711-06-04 9/16"X18 6 04 15.5 10.5 19
26711-06-05 9/16"X18 8 05 15.5 10.5 19
26711-06-06 9/16"X18 10 06 15.5 10.5 19
26711-06-08 9/16"X18 12 08 16 10.5 19
26711-08-06 3/4"X16 10 06 17.5 1 24
26711-08-08 3/4"X16 12 08 18 11 24
26711-08-10 3/4"X16 16 10 19.5 1 24
26711-10-08 7/8"X14 12 08 18.5 13 27
26711-10-10 7/8"X14 16 10 20 13 27
26711-10-12 7/8"X14 20 12 20 13 27
26711-12-08T 1.1/16"X12 12 08 19 15 32
26711-12-10 1.1/16"X12 16 10 21.5 15 32
26711-12-12 1.1/16"X12 20 12 21.5 15 32
26711-12-16 1.1/16"X12 25 16 23 15 32
26711-14-12 1.3/16"X12 20 12 21.5 15 36
26711-16-12T 1.5/16"X12 20 12 18.5 16 41
26711-16-16 1.5/16"X12 25 16 23 16 41
26711-16-20 1.5/16"X12 32 20 24 16 41
26711-20-16T 1.5/8"X12 25 16 23 17 50
26711-20-20W 1.5/8"X12 32 20 26 17 50
26711-24-20W 1.7/8"X12 32 20 26.5 20 55
26711-24-24W 1.7/8"X12 40 24 26.5 20 55
26711-32-24T 2.1/2"X12 40 24 27 23.5 75
26711-32-32T 2.1/2"X12 50 32 27 23.5 75

T N RPASHTRARKE, 20FBATERRERSH26712-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26712-XX-XX.

C40



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

EHJIC RIRAT7 4 AEE N7

JIC FEMALE 74°CONE SEAT DOUBLE HEXAGON (SAE J514)

re 1847 E %% HOSEBORE R~ DIMENSIONS

PARTNO. THREADE ~FRAFEDN #xrS DASH A C S1 S2
26711D-04-04 7/16"X20 6 04 20 9 15 15
26711D-05-04 1/2"X20 6 04 20.5 9.5 17 17
26711D-06-04 9/16"X18 6 04 21 10.5 19 19
26711D-06-06 9/16"X18 10 06 21 10.5 19 19
26711D-08-06 3/4"X16 10 06 25 11 24 24
26711D-08-08 3/4"X16 12 08 24.5 11 24 24
26711D-08-10 3/4"X16 16 10 25.5 11 24 24
26711D-10-08 7/8"X14 12 08 28 13 27 27
26711D-10-10 7/8"X14 16 10 29 13 27 27
26711D-12-12 1.1/16"X12 20 12 31.5 15 32 32
26711D 26711D-16-12 1.5/16"X12 20 12 33.5 16 41 41
26711D-16-16 1.5/16"X12 25 16 34.5 16 41 41
26711D-16-20 1.5/16"X12 32 20 36.5 16 41 41
26711D-20-20 1.7/16"X12 32 20 39 17 50 50

T A RPASHTRARE. 2MFERTEERERSHIN26712D-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26712D-XX-XX.

EHJIC RIEN 74 AEEIN A

JIC FEMALE 74°CONE SEAT DOUBLE HEXAGON (SAE J514)

ke L E %% HOSE BORE R~F DIMENSIONS

PARTNO. THREAD E ATRAEDN #%S DASH A © S1 S2
26711D-04-04SM 7/16"X20 6 04 20 9 12 15
26711D-05-04SM 1/2"X20 6 04 205 | 9.5 12 17
26711D-06-04SM 9/16"X18 6 04 21 105 | 14 19
26711D-06-06SM 9/16"X18 10 06 21 105 | 17 19
26711D-08-06SM 3/4"X16 10 06 23 11 19 24
26711D-08-08SM 3/4"X16 12 08 245 | 1 2 24
26711D-08-10SM 3/4"X16 16 10 255 | 1 22 24
26711D-10-08SM 7/8"X14 12 08 24 13 22 27
26711D-10-10SM 7/8"X14 16 10 27 13 22 27
26711D-12-12SM 1.1/16"X12 20 12 315 | 15 27 32
26711D-SM 26711D-16-12SM 1.5/16"X12 20 12 31.5 16 32 41
26711D-16-16SM 1.5/16"X12 25 16 325 | 16 32 41
26711D-20-20SM 1.7/16"X12 32 20 37 17 41 50

T N RPRSHATRAKE. 20FEATERRENSH926712D-XX-XXSM,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26712D-XX-XXSM.



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

45°3EH] JIC PILRAI7 4 IHETE

45°JIC FEMALE 74°CONE SEAT (SAE J514)

26741 22741-W
K= L E %% HOSE BORE R~ DIMENSIONS

HARITNO LG ABRAEDN #2 DASH A C H s2
26741-04-03 7/16"X20 5 03 37.6 9 17.2 15
26741-04-04 7/16"X20 6 04 40.2 9 18.1 15
26741-05-04 1/2"X20 6 04 40.5 9.5 18.5 17
26741-05-05 1/2"X20 8 05 42.7 9.5 19.3 17
26741-05-06 1/2"X20 10 06 44 .6 9.5 20.3 17
26741-06-04 9/16"X18 6 04 40.5 10.5 18.5 19
26741-06-05 9/16"X18 8 05 42.7 10.5 19.3 19
26741-06-06 9/16"X18 10 06 44.3 10.5 20 19
26741-06-08 9/16"X18 12 08 56.8 10.5 21.9 19
26741-08-06 3/4"X16 10 06 45.7 11 21.4 24
26741-08-08 3/4"X16 12 08 58.6 11 23.5 24
26741-10-08 7/8"X14 12 08 58.9 13 24 27
26741-10-10 7/8"X14 16 10 70.1 13 25.3 27
26741-10-12 7/18"X14 20 12 77 13 28.9 27
26741-12-08 1.1/16"X12 12 08 60 15 25 32
26741-12-10 1.1/16"X12 16 10 71.2 15 26.4 32
26741-12-12 1.1/16"X12 20 12 77.4 15 30 32
26741-12-16 1.1/16"X12 25 16 85.3 15 31 32
26741-14-12 1.3/16"X12 20 12 77.4 15 30 36
26741-16-12 1.5/16"X12 20 12 77.4 16 30 41
26741-16-16 1.5/16"X12 25 16 85.7 16 31.5 41
26741-16-20 1.5/16"X12 32 20 96.3 16 35.5 41
26741-20-20W 1.5/8"X12 32 20 96.6 17 35.9 50
26741-24-20W 1.7/8"X12 32 20 100.8 20 40.1 55
26741-24-24W 1.7/8"X12 40 24 114.8 20 44 .1 55
26741-32-32W 2.1/2"X12 50 32 135.9 23.5 51.6 75

E: 1 RPRSHETRARE, 2MFRATESRRERSE26742-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26742-XX-XX.

C42



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90°55#l JIC PIIBN74° A

90°JIC FEMALE 74°CONE SEAT (SAE J514)

; -
5
/
/
T T
Of— T3s2 O
(L E
\_/
74° 74
26791 22791-W
= B4 E % HOSE BORE R~ DIMENSIONS
PARTNO. THREAD E AFRAEDN xS DASH A C H S2
26791-04-03 7/16"X20 5 03 26.5 9 30.5 15
26791-04-04 7/16"X20 6 04 30 9 33.5 15
26791-05-04 1/2"X20 6 04 30 95 34 17
26791-05-05 1/2"X20 8 05 33 9.5 37 17
26791-05-06 1/2"X20 10 06 35.3 9.5 39..3 17
26791-06-04 9/16"X18 6 04 30 10.5 34 19
26791-06-05 9/16"X18 8 05 33 10.5 37 19
26791-06-06 9/16"X18 10 06 35.3 10.5 39.3 19
26791-06-08 9/16"X18 12 08 41 10.5 455 19
26791-08-06 3/4"X16 10 06 5.9 11 41.3 24
26791-08-08 3/4"X16 12 08 41 11 47 24
26791-08-10 3/4"X16 16 10 56.5 11 5jIE5 24
26791-10-08 7/8"X14 12 08 41 13 48 27
26791-10-10 7/8"X14 16 10 56.5 13 52,5 27
26791-10-12 7/8"X14 20 12 67 13 64 27
26791-12-08 1.1/16"X12 12 08 41 15 49.5 32
26791-12-10 1.1/16"X12 16 10 56.5 15 54 32
26791-12-12 1.1/16"X12 20 12 65.5 15 63.5 32
26791-12-16 1.1/16"X12 25 16 76.7 15 70 32
26791-14-12 1.3/16"X12 20 12 65.5 15 63.5 36
26791-16-12 1.5/16"X12 20 12 65.5 16 63.5 41
26791-16-16 1.5/16"X12 25 16 76.7 16 70 41
26791-16-20 1.5/16"X12 32 20 91.5 16 81 41
26791-20-20W 1.5/8"X12 32 20 91.5 17 80.5 50
26791-24-20W 1.7/8"X12 32 20 91.5 20 79.5 55
26791-24-24W 1.7/8"X12 40 24 109.4 20 94 05
26791-32-32W 2.1/2"X12 50 32 133.1 235 121.8 75

i 1 RPRSETRARE. 2MFRATESERERSE26792-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26792-XX-XX.

C43



HENRE L

SWAGED HOSE FITTING

£ 2D i Jx

XINDU HYDRAULIC

90°%HIiES JIC RIRN74°AHEE

90°JIC COMPACT FEMALE 74°CONE SEAT (SAE J514)

S1 A " rRE B4 E ##& HOSE BORE R~ DIMENSIONS
\@ N . PASTNEL THREADE | \#xi#DN| 42 DASH| A | C H | s1 | s2
__J|__ - 26791K-04-04 7/16"X20 6 04 17.5 9 18 1 15
T ! 26791K-06-04 9/16"X18 6 04 19 10.5 21 14 19
26791K-06-06 9/16"X18 10 06 20 10.5 21 16 19
{ ' 26791K-08-06 3/4"X16 10 06 23 11 25 19 24
o % : s2 26791K-08-08 3/4"X16 12 08 235 | 11 | 25 | 22 | 24
[ 26791K-10-08 7/18"X14 12 08 23.5 13 27.5 22 27
E 26791K-10-10 7/8"X14 16 10 25 13 27.5 22 27
740 26791K-12-12 1.1/16"X12 20 12 27.5 15 30 27 32
26791K-16-16 1.5/16"X12 25 16 43 16 34.3 33 41

26791K iE 1LRPREBTRALRE. 2 NFEATESRERSHI26792K-XX-XX,

NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26792K-XX-XX.

KHISAE PIIRA 90° AHEE

SAE FEMALE 90° CONE SEAT (SAE J513)

Re 1247 E & HOSE BORE R~ DIMENSIONS
FARTE: VA0 S AFRAFEDN #xS DASH A C S2
C_A 27811-04-03 7/16"X20 5 03 14 9 15
27811-04-04 7/16"X20 6 04 15 9 15
777 27811-05-05 1/2"X20 8 05 15.5 9.5 17
90°(LL( - 27811-06-04 5/8"X18 6 04 17 1.3 22
27811-06-05 5/8"X18 8 05 17 1.3 22
27811-06-06 5/8"X18 10 06 17 11.3 22
S2 27811-08-08 3/4"X16 12 08 18 1 24
27811-10-08 7/8"X14 12 08 18.5 13 27
27811 27811-10-10 7/8"X14 16 10 20 13 27
27811-12-12 1.1/16"X14 20 12 21.5 14.3 32

E 1 RPREBTRERE. 2 NFRTEFRERSH27812-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 27812-XX-XX.

45° ZEFISAE PIIBL90° AT

45° SAE FEMALE 90° CONE SEAT (SAE J513)

®= 4 E #%#& HOSE BORE R~ DIMENSIONS

SRR JLEESEE AFRATZEDN #RS DASH A © S1 S2

A 27841-04-03 7/16"X20 5 03 37.6 9 17.2 15

7 N 27841-06-04 5/8"X18 6 04 42 1.3 | 19.9 22

Il %/ 27841-06-05 5/8"X18 8 05 441 | 113 | 207 22
s 27841-06-06 5/8"X18 10 06 457 | 11.3 | 21.4 22
27841-08-08 3/4"X16 12 08 58.2 11 23.3 24

00 < 52 27841-10-08 7/8"X14 12 08 58.2 13 23.3 27
27841-10-10 7/8"X14 16 10 69.4 13 24.6 27

27841 27841-12-12 1.1/16"X14 20 12 774 | 143 30 32

E 1 RPRESATRERE, 2MFRATEFERERSHH27842-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 27842-XX-XX.

C44



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90° EHISAE PILES90° WIS

90° SAE FEMALE 90° CONE SEAT (SAE J513)

A re B E & HOSE BORE R=<t DIMENSIONS
PART NO. THREAD E AFRHEDN =2 DASH A C S1 S2
;y/ 27891-04-03 7/16"X20 5 03 26.5 9 30.5 16
27891-06-04 5/8"X18 6 04 30 11.3 36 22
T 27891-06-05 5/8"X18 8 05 33 11.3 39 22
{ 27891-06-06 5/8"X18 10 06 B583] 1118 41.3 22
27891-10-08 7/8"X14 12 08 41 13 47 27
O . s2 27891-10-10 7/8"X14 16 10 56.5 13 51.5 27
| 27891-12-12 1.1/16"X14 20 12 65.5 14.3 63.5 32

& Ec 27891 D LRPRERTHRIURE., 2WERATESREREBH27892-XX-XX,
90 NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 27892-XX-XX.

HAEQHARS 60° AIEE

JIS METRIC FEMALE 60° CONE SEAT

Re gy E #%& HOSE BORE R~ DIMENSIONS
C. A _ FARITNGS VAR ABRAEDN | #RE DASH A € s1 | s2
‘ 28611-12-04 M12X1.5 6 04 20 9 17 17
o | ] 28611-14-04 M14X1.5 6 04 21 10.5 19 19
60 28611-14-06 M14X1.5 10 06 21 10.5 19 19
28611-16-04 M16X1.5 6 04 24 10 22 22
82 S1 28611-16-05 M16X1.5 8 05 24 10 22 22
28611-16-06 M16X1.5 10 06 24 10 22 22
28611 28611-18-06 M18X1.5 10 06 25 | 115 | 24 24
28611-18-08 M18X1.5 12 08 24.5 1.5 24 24
28611-20-08 M20X1.5 12 08 28.5 12 27 27
28611-22-08 M22X1.5 12 08 25.5 14 27 27
C A 28611-24-08 M24X1.5 12 08 27.5 15 32 32
28611-24-10 M24X1.5 16 10 28.5 15 32 32
28611-27-10 M27X1.5 16 10 28.5 10 32 32
ol w 28611-30-12 M30X1.5 20 12 285 | 183 | 36 36
© ° 28611-33-12 M33X1.5 20 12 31 21.3 41 41
28611-33-16 M33X1.5 25 16 872, 21.3 41 41
S2 S1 28611-36-20 M36X1.5 32 20 35.5 20 46 46

_42- M42X1.5 -

28611-W 28611-42-24W 40 24 36 18.8 55 55

T A RPRASHATRAKRE. 20FERTERRERSH28612-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 28612-XX-XX.

C45



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

A5°BEF2HIAIRS 60° AIHEME

45°J1S METRIC FEMALE 60°CONE SEAT

A
s
=9 / C
S1
&
s2
28641 28641-W
®e L E ##& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E ARRAEDN =8 DASH A 5 i - 52
28641-14-04 M14X1.5 6 04 43.4 10.5 21.3 19 19
28641-16-05 M16X1.5 8 05 47.6 10 24.3 22 22
28641-18-06 M18X1.5 10 06 49.2 11.5 24.9 24 24
28641-22-08 M22X1.5 12 08 62.1 14 27.2 27 27
28641-24-10 M24X1.5 16 10 74.7 15 29.9 32 32
28641-30-12 M30X1.5 20 12 80.9 18.3 33.5 36 36
28641-33-16 M33X1.5 25 16 89.9 21.3 35.7 41 41
28641-36-20 M36X1.5 32 20 104.1 20 41.9 46 46
28641-42-24W M42X1.5 40 24 116.2 18.8 45.5 50 55

E 1 FRPRSETREARE, 2MFBATESERERSHUI28642-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 28642-XX-XX.

90° HAE 2 HIRLES 60° PIHEHE

90° JIS METRIC FEMALE 60° CONE SEAT

A
—ﬂz
,/<
v
/
T T
S1
o o
82 JLE]
— 28691 o 28691-W
60° ~_60° ~
rE B E % HOSE BORE R~ DIMENSIONS

PRATLO: THIREADE AFRAEDN =S DASH A G H S1 S2
28691-14-04 M14X1.5 6 04 30 10.5 38 19 19
28691-14-06 M14X1.5 10 06 35.5 10.5 43.3 19 19
28691-16-05 M16X1.5 8 05 33 10 44 22 22
28691-18-06 M18X1.5 10 06 35.3 11.5 46.3 24 24
28691-22-08 M22X1.5 12 08 41 14 52.5 27 27
28691-24-10 M24X1.5 16 10 56.5 15 59 32 32
28691-30-12 M30X1.5 20 12 65.5 18.3 68.5 36 36
28691-33-16 M33X1.5 25 16 76.7 21.3 76 41 41
28691-36-20 M36X1.5 32 20 93 20 90 46 46
28691-42-24W M42X1.5 40 24 109.4 18.8 103 55) 55

i 1RPRSETREAKE. 2MEATEERERSHI928692-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 28692-XX-XX.

C46



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

HARH AR5 60° PIEE

JIS GAS FEMALE 60° CONE SEAT (JIS B8363)

c A re W E & HOSE BORE R~F DIMENSIONS
PART NO. THREAD E ANFRAFZDN ¥R2 DASH A C S1 S2
29611-02-03 G1/8"X28 5 03 20 7 14 14
60°| {1 29611-04-04 G1/4"X19 6 04 21 8 19 19
29611-04-05 G1/4"X19 8 05 21 8 19 19
29611-06-04 G3/8"X19 6 04 24 9 22 22
29611-06-06 G3/8"X19 10 06 23 9 22 22
29611-08-06 G1/2"'X14 10 06 28 12 27 27
29611-08-08 G1/2"X14 12 08 265 | 12 27 27
29611-10-10 G5/8"X14 16 10 31 | 115 | 30 30
cC A 29611-12-10 G3/4"X14 16 10 285 | 135 | 32 32
] 29611-12-12 G3/4"X14 20 12 285 | 135 | 32 32
< 29611-16-16 G1"X11 25 16 32 16 41 41
o w | 29611-20-20W G1.1/4"X11 32 20 43 | 185 | 50 50
© o
29611-24-24W G1.1/2"X11 40 24 435 | 19 55 55
s2/ 1 29611-32-32W G2"X11 50 32 465 | 23 70 70

E 1 RPREBTRERE. 2 NFRATEFERERSH29612-XX-XX.

29611-W NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 29612-XX-XX.

45° HFREANRL 60° AHEHE

45° JIS GAS FEMALE 60° CONE SEAT (JIS B8363)

®= B4 E %#& HOSE BORE R~ DIMENSIONS

SRR THREADE | \###DN| #S DASH| A G H | s1 | s2
29641-04-04 G1/4"X19 6 04 43.4 8 21.3 19 19
29641-06-06 G3/8"X19 10 06 48.9 9 24.6 22 22
29641-08-08 G1/2"X14 12 08 62.5 12 27.5 27 27
29641-12-12 G3/4"X14 20 12 81.3 186 33.9 32 32
29641-16-16 G1"X11 25 16 87.3 16 36 41 41
29641-20-20W G1.1/4"X11 32 20 107.3 18.5 46.5 50 50
29641-24-24W G1.1/2"X11 40 24 122.8 19 50.8 55 55
29641-32-32W G2"X11 50 32 143 23 60 70 70

i A RPREATRAKE. 2MFERTERRERSHK/29642-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 29642-XX-XX.

29641-W

C4a7



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90°HFREMIRN 60° AHEE

90°JIS GAS FEMALE 60°CONE SEAT (JIS B8363)

A
/'/// H|
/
T T
S1
O ©)
S2
E
60° 29691 60° 29691-W
rE B E & HOSE BORE R~t DIMENSIONS
Lok THREAD E AFRAEDN #xS DASH A C H S1 S2
29691-04-04 G1/4"X19 6 04 30 8 38 19 19
29691-04-05 G1/4"X19 8 05 33 8 41 19 19
29691-06-06 G3/8"X19 10 06 35.3 9 45.8 22 22
29691-08-08 G1/2"X14 12 08 41 12 53 27 27
29691-10-10 G5/8"X14 16 10 56.5 1.5 61 30 30
29691-12-12 G3/4"X14 20 12 65.5 13.5 69 32 32
29691-16-16 G1"X11 25 16 76.7 16 76.5 41 41
29691-20-20W G1.1/4"X11 32 20 91.5 18.5 92.5 50 50
29691-24-24W G1.1/2"X11 40 24 109.4 19 110.5 55 55
29691-32-32W G2"X11 50 32 131.8 23 133.8 70 70
I 1 RPRSHETRARE. 2MFRATEERERSHII29692-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 29692-XX-XX.
h S|
AR IERE R
SOCKET WELD HOSE FITTING
A RE &F5MED # & HOSE BORE R~ DIMENSIONS
B PARTNO. TUBEO.D. AMAEDN | #7S DASH A B
40011-08-04 8 6 6 14.5 5
40011-09-04 9 6 6 14.5 5
o 1 — 40011-10-04 10 6 6 14.5 5
40011-10-05 10 8 8 12.5 5
40011-13-05 13 8 8 15 5
40011-15-06 16 10 10 16.5 5
40011-16-08 16 12 12 14 5
40011 40011-20-08 20 12 12 16.5 5
20011-22-10 22 16 16 18 5

i N RPRSATRARE. 2MFERATERRERSHII40012-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 40012-XX-XX.

C48



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

2FFEANEE
METRIC STANDPIPE STRAIGHT (DIN 2353)

A
C : 7
i} S| [Rinnnns
50011
re 257 5NED & HOSE BORE R~ DIMENSIONS £

PART NO. TUBE O.D. AFRAFEDN 2 DASH A c NOTE
50011-06-03 6 5 03 28.5 22

50011-06-04 6 6 04 29 22

50011-10-05 10 8 05 31 23

50011-10-06 10 10 06 32 23

50011-12-06 12 10 06 33.5 23

50011-12-08 12 12 08 33 23 ;_zé
50011-15-06 15 10 06 35.5 25

50011-15-08 15 12 08 35.5 25 /2%
50011-18-08 18 12 08 36.5 26

50011-18-10 18 16 10 41 26 ﬁu
50011-22-10 22 16 10 44 28

50011-22-12 22 20 12 44 28

50011-22-16 22 25 16 46 28

50011-28-16 28 25 16 47 30

50011-35-20 35 32 20 56 36

50011-42-24 42 40 24 62 40

50011-08-04 8 6 04 31 24

50011-08-05 8 8 05 33 24

50011-08-06 8 10 06 33 24

50011-10-04 10 6 04 35 26

50011-12-04 12 6 04 34.5 26

50011-12-05 12 8 05 35.5 26

50011-14-06 14 10 06 39.5 29 i
50011-14-08 14 12 08 40 29

50011-14-12 14 20 12 45.5 29 %\
50011-16-08 16 12 08 41 30

50011-16-10 16 16 10 45.5 30 }U
50011-20-10 20 16 10 52.5 36

50011-20-12 20 20 12 52.5 36

50011-25-12 25 20 12 56 40

50011-25-16 25 25 16 57 40

50011-30-16 30 25 16 63 44

50011-30-20 30 32 20 64 44

50011-38-16 38 25 16 69 50

50011-38-20 38 32 20 70 50

I A RPASHETRAKE. 2MERETEFERENSHII50012-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 50012-XX-XX.

C49



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

45° RElREXEHE
45° METRIC STANDPIPE STRAIGHT

50041

re BEFHMED %% HOSE BORE R~t DIMENSIONS &3t
PART NO. TUBE O.D. AFRAEDN 72 DASH A c H NOTE
50041-06-03 6 5 03 47.8 22 27.5
50041-06-04 6 6 04 52.2 22 30.1
50041-08-05 8 8 05 55.7 24 324
50041-08-06 8 10 06 57.9 24 33.1
50041-10-05 10 8 05 54 23 30.6
50041-10-06 10 10 06 56.1 23 31.3 %
50041-12-06 12 10 06 58.5 23 34.5
50041-12-08 12 12 08 72.4 23 37.4 ,%
50041-15-06 15 10 06 59.3 25 34.5
50041-15-08 15 12 08 70.6 25 35.7 5’]
50041-18-08 18 12 08 73.4 26 38.5
50041-18-10 18 16 10 84.6 26 39.8
50041-22-10 22 16 10 87.1 28 42.3
50041-22-12 22 20 12 39.3 28 45.9
50041-22-16 22 24 16 100.9 28 46.7
50041-28-16 28 24 16 103.7 30 49.5
50041-35-20 35 32 20 118.5 36 57.8
50041-08-04 8 6 04 53.6 24 31.5
50041-10-04 10 6 04 54 26 31.9
50041-12-04 12 6 04 57.1 26 35.1
50041-12-05 12 8 05 59.2 26+ 35.9
50041-14-06 14 10 06 61.6 29 37.3
50041-14-08 14 12 08 73.8 29 38.8 H
50041-14-12 14 20 12 91.9 29 43.8
50041-16-08 16 12 08 76.6 30 41.7 /%
50041-16-10 16 16 10 87.8 30 43
50041-20-10 20 16 10 92.8 36 48 ﬁu
50041-20-12 20 20 12 110.7 36 52.6
50041-25-12 25 20 12 101.8 40 54.5
50041-25-16 25 25 16 109.4 40 55.2
50041-30-16 30 25 16 113.6 44 59.4
50041-30-20 30 32 20 124.2 44 63.5
50041-38-16 38 25 16 117.9 50 63.6
50041-38-20 38 32 20 128.4 50 67.7

iE 1RPRSETREAKRE. 2MBERATEERERSHIE50042-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 50042-XX-XX.

C50



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90° 2HREXNEHE
90° METRIC STANDPIPE STRAIGHT (DIN 2353)

A
,/—
Vs
/
I
@)
D 50091
re BEFHNMZED & HOSE BORE R~t DIMENSIONS &
PART NO. TUBE O.D. AFRA DN 452 DASH A c H Mens
50091-06-03 6 5 03 26.5 22 45
50091-06-04 6 6 04 30 22 48
50091-08-05 8 8 05 34 24 55.5
50091-08-06 8 10 06 35.8 24 57.8
50091-10-05 10 8 05 34 23 53
50091-10-06 10 10 06 35.3 23 55.3 i_g:k
50091-12-06 12 10 06 35.3 23 59.8
50091-12-08 12 12 08 41 23 67 /%
50091-15-06 15 10 06 35.8 25 59.8
50091-15-08 15 12 08 41 25 65 5
50091-18-08 18 12 08 41 26 68.5
50091-18-10 18 16 10 56.5 26 73
50091-22-10 22 16 10 56.5 28 76.5
50091-22-12 22 20 12 65.5 28 86
50091-22-16 22 25 16 76.7 28 91.5
50091-28-16 28 25 16 76.7 30 95.5
50091-35-20 35 32 20 91.5 36 112.5
50091-08-04 8 6 04 30 24 52.5
50091-10-04 10 6 04 30 26 53
50091-12-04 12 6 04 30 26 57.5
50091-12-05 12 8 05 33 26 60.5
50091-14-06 14 10 06 35.3 29 63.8
50091-14-08 14 12 08 41 29 69
50091-14-12 14 20 12 66.2 29 83
50091-16-08 16 12 08 42 30 73 /%
50091-16-10 16 16 10 56.5 30 77.5
50091-20-10 20 16 10 56.5 36 84.5 ﬁu
50091-20-12 20 20 12 65.5 36 95.5
50091-25-12 25 20 12 65.5 40 98
50091-25-16 25 25 16 76.7 40 103.5
50091-30-16 30 25 16 78 40 109.5
50091-30-20 30 32 20 91.5 44 120.5
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20 38 32 20 91.5 50 126.5

i 1 RPRSHETRARE. 2NFATEERERSHII50092-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 50092-XX-XX.



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

IR ER ERYT R A% Sk

MT STAPLE-LOK MALE

re & HOSE BORE R~ DIMENSIONS

AR ~FRAEDN #=5 DASH A C J K

A 60011-04-04 6 04 31 25 15 11 C
-ACﬁ 60011-05-05 8 05 33.5 26 18 13
7 60011-06-06 10 06 33 26 18 15
o|X ’"H [ 60011-08-06 10 06 33.5 26 22 18
L 60011-08-08 12 08 34 26 22 18
60011-10-10 16 10 39 30 25 20
60011-12-12 20 12 40.5 31 28 24
60011 60011-16-14 22 14 41 31 35 30
60011-16-16 25 16 42 31 35 30

E N ERPRSAETRARE. 20FRTERRENSHI60012-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 60012-XX-XX.

SAEREN Ak

SAE STAPLE-LOK MALE (SAE J1467)

ok £
ke #%%& HOSE BORE OFHE R~ DIMENSIONS
RS ABHKEDN | #R2 DASH il A c | J | K
67011-04-04 6 04 006.0X2.0 34 28 | 149 | 9.9
—h . 67011-06-06 10 06 010.0X2.0 35 28 | 19.9 | 13.9
W—Cﬂm_im 67011-08-08 12 08 013.0X2.5 36 28 | 23.9 | 17.9
| 67011-12-12 20 12 019.0X2.5 375 | 28 | 28.9 | 23.9
-] ¥ 67011-16-16 25 16 025.0X2.5 44 33 | 38.8 | 309
U 67011-20-20 32 20 033.0X2.5 44 33 | 459 | 37.9
67011 67011-24-24 40 24 040.0X3.0 47.5 | 36.3 | 54.9 | 46.9
67011-32-32 50 32 050.0X3.0 475 | 36.3 | 63.9 | 55.9

i A RPASHTRARE. 2ERTERRERSHII67012-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 67012-XX-XX.

C52



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

2FEREE

METRIC BANJO (DIN 7642)

re i & HOSE BORE R~F DIMENSIONS
SRS ety AFRAZDN #x5 DASH A d D H
70011-10-03 M10X1 5 03 14.5 | 10.1 17 10
70011-10-04 M10X1 6 04 17 10.1 17 10
70011-12-04 M12X1.5 6 04 205 | 12.1 20 12
70011-12-05 M12X1.5 8 05 20.5 | 12.1 20 12
70011-12-06 M12X1.5 10 06 205 | 12.1 20 12
70011-14-04 M14X1.5 6 04 21 14.1 24 14
g A 70011-14-05 M14X1.5 8 05 21 14.1 24 14
S 70011-14-06 M14X1.5 10 06 21 14.1 24 14
% S [W‘V 70011-16-04 M16X1.5 6 04 205 | 16.1 | 28 16
T 70011-16-05 M16X1.5 8 05 20.5 | 16.1 28 16
J_l—u—l-MM’ 70011-16-06 M16X1.5 10 06 20.5 | 16.1 28 16
70011-18-04 M18X1.5 6 04 23 18.1 32 20
70011-18-05 M18X1.5 8 05 24 18.1 32 20
70011 70011-18-06 M18X1.5 10 06 24 18.1 32 20
70011-18-08 M18X1.5 12 08 245 | 18.1 32 20
70011-22-06 M22X1.5 10 06 28.1 | 22.1 39 25
70011-22-08 M22X1.5 12 08 28.5 | 22.1 39 25
70011-22-10 M22X1.5 16 10 28 22.1 39 25
70011-26-12 M26X1.5 20 12 32.5 | 26.1 46 30
70011-30-16 M30X1.5 25 16 37 30.1 54 36
70011-30-20 M30X1.5 32 20 40 30.1 54 36
E 1 RPREATREARE. 2NERTEFRERSBI70012-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 70012-XX-XX.
KHERIEER
METRIC BOLT (DIN 7643)
c re B E R~ DIMENSIONS
PART NO. THREAD E A B c S1
7‘ 7 700M-10 M10X1 19 5.5 6 14
//IAT 700M-12 M12X1.5 24 7 6 17
S1 \ o 700M-14 M14X1.5 26 9 6 19
j}— ‘ 700M-16 M16X1.5 28 1 6 22
| 700M-18 M18X1.5 32 13 6 24
700M-22 M22X1.5 39 16 7 27
700M 700M-26 M26X1.5 45 20 7 32
700M-30 M30X1.5 51 24 7 36

C53



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

R BREE

BSP BANJO

ke 8y E #% % HOSE BORE R~ DIMENSIONS
SRS JLEESEE AFRAEDN #*2 DASH A d D H
72011-02-03 G1/8"X28 5 03 18 | 9.9 | 22 16
72011-02-04 G1/8"X28 6 04 1855 | 9.9 | 22 16
72011-04-03 G1/4"X19 5 03 19 | 133 | 24 15
72011-04-04 G1/4"X19 6 04 19.5 | 13.3 | 24 15
72011-04-05 G1/4"X19 8 05 19.5 | 13.3 | 24 15
d 72011-04-06 G1/4"X19 10 06 19.5 | 13.3 | 24 15
72011-06-04 G3/8"X19 6 04 22 | 167 | 29 20
. % C—@bm 72011-06-05 G3/8"X19 8 05 22 | 167 | 20 | 20
J_'_L 72011-06-06 G3/8"X19 10 06 22 | 167 | 29 20
72011-06-08 G3/8"X19 12 08 23 | 167 | 29 20
A 72011-08-05 G1/2"X14 8 05 275 | 21 38 25
72011-08-06 G1/2"X14 10 06 275 | 21 38 25
72011 72011-08-08 G1/2"X14 12 08 28 21 38 25
72011-08-10 G1/2"X14 16 10 29 21 38 25
72011-10-10 G5/8"X14 16 10 28 23 40 27
72011-12-10 G3/4"X14 16 10 32 | 265 | 48 31
72011-12-12 G3/4"X14 20 12 32 | 265 | 48 31
72011-16-08 G1"X11 12 08 40 | 333 | 60 42
72011-16-12 G1"X11 20 12 40 | 333 | 60 42
72011-16-16 G1"X11 25 16 41 | 333 | 60 42

T N RPRSATRAKRE. 20FERTERRERSHINT2012-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 72012-XX-XX.

H B EIRE

BSP BOLT
re B E R=t DIMENSIONS
c. 24

PART NO. THREAD E o B c S1
T 720B-02 G1/8"X28 29.5 4.8 4.8 14
//r‘\\ 7208-04 G1/4"X19 28.5 6 6 19
S1 \ au 720B-06 G3/8"X19 38.5 9 7 22
= | 720B-08 G1/2'X14 44 13 8.5 27
\ 720B-10 G5/8"X14 48.5 15 10 30
720B 720B-12 G3/4"X14 56 18 10 32
720B-16 G1"X11 68.5 22 13 41

C54



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

SAE j%= 3000 PSI
SAE FLANGE 3000 PSI (ISO 12151-3--SAE J516)

re FERE & HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE AFRAEDN 2 DASH A c D L
87311-08-08 1/2" 12 08 46 30.2 24 6.73
87311-12-08 3/4" 12 08 47 38.1 31.7 6.73
87311-12-10 3/4" 16 10 48 38.1 31.7 6.73
87311-12-12 3/4" 20 12 48 38.1 31.7 6.73
87311-12-16 3/4" 25 16 49 38.1 31.7 6.73
87311-16-12 1" 20 12 51 44 .4 38 8
87311-16-16 1" 25 16 52 44.4 38 8
87311-16-20 1" 32 20 53 44 .4 38 8
87311-20-16 1.1/4" 25 16 57 50.8 43 8
87311-20-20 1.1/4" 32 20 58 50.8 43 8
87311 87311-24-20 1.1/2" 32 20 68 60.3 50 8
87311-24-24 1.1/2" 40 24 68 60.3 50 8
87311-32-24 2" 40 24 70 71.4 62 9.53
87311-32-32 2" 50 32 70 71.4 62 9.53
87311-40-40 2.1/2" 64 40 76 84.1 74 9.53

T A RPRSHATRAKE. 2MFERETERRERSHII87312-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87312-XX-XX.

45°SAE i%= 3000 PSI
45°SAE FLANGE 3000 PSI (ISO 12151-3--SAE J516)

re FmE #& HOSE BORE R~ DIMENSIONS

PARTNO. FLANGESIZE | )\ziiZDN| #2 DASH| A c D H L

87341-08-08 172" 12 08 58.2 | 302 | 24 | 233 | 6.73

A 87341-12-08 3/4" 12 08 58.9 | 38.1 | 31.7 | 24 | 6.73

M 87341-12-10 3/4" 16 10 701 | 38.1 | 31.7 | 253 | 6.73

S = | 87341-12-12 3/4" 20 12 77 | 381 | 317 | 289 | 6.73
T ¥ 87341-16-12 1 20 12 77 | 444 | 38 | 28.9 8
87341-16-16 i 25 16 852 | 44.4 | 38 | 297 8
{\/ 87341-16-20 1" 32 20 945 | 444 | 38 | 338 8
87341-20-16 1.1/4" 25 16 852 | 50.8 | 43 | 29.7 8
87341-20-20 1.1/4" 32 20 945 | 508 | 43 | 338 8
87341 87341-24-20 1.1/2" 32 20 959 | 60.3 | 50 | 352 8
87341-24-24 1.1/2" 40 24 109.9 | 60.3 | 50 | 39.1 8

87341-32-24 o8 40 24 109.9 | 71.4 | 62 | 39.1 | 9.53

87341-32-32 2 50 32 129.3 | 71.4 | 62 | 46.3 | 9.53

T A RPRSHATRAKRE. 20FERTERRERSHII87342-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87342-XX-XX.

C55



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

90°SAE i%= 3000 PSI
90°SAE FLANGE 3000 PSI (ISO 12151-3--SAE J516)

R= eme & HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE AFRAEDN| #:2 DASH A C D H L
A 87391-08-08 1/2" 12 08 41 30.2 24 47 6.73
% 87391-12-08 3/4" 12 08 41 38.1 | 31.7 48 6.73
g 87391-12-10 3/4" 16 10 56 38.1 | 31.7 | 52.5 | 6.73
~
e 87391-12-12 3/4" 20 12 66.2 | 38.1 | 31.7 62 6.73
/ 87391-12-16 3/4" 25 16 76.7 | 38.1 | 31.7 | 67.5 | 6.73
T 87391-16-12 1" 20 12 65.5 | 44.4 38 62 8
D 87391-16-16 1" 25 16 76.7 | 44.4 38 67.5 8
=] 87391-16-20 1" 32 20 91.5 | 44.4 38 78.5 8
c 87391-20-16 1.1/4" 25 16 76.7 | 50.8 43 67.5 8
87391-20-20 1.1/4" 32 20 91.5 | 50.8 43 78.5 8
87391 87391-20-24 1.1/4" 40 24 107 | 50.8 | 43 | 785 | 8
87391-24-20 1.1/2" 32 20 91.5 | 60.3 50 80.5 8
87391-24-24 1.1/2" 40 24 109.4 | 60.3 50 94 8
87391-32-24 2" 40 24 109.4 | 71.4 62 94 9.53
87391-32-32 2" 50 32 131.8| 71.4 62 | 114.3| 9.53
87391-40-32 2.1/2" 50 32 131.8| 84.1 | 74.4 | 116.3 | 9.53
T A RPRASHATRAKRE. 20ERTERRERSHI87392-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87392-XX-XX.
e
SAE i£= 6000 PSI
SAE FLANGE 6000 PSI (ISO 12151-3--SAE J516)
re Eema & HOSE BORE R~ DIMENSIONS
SRR AANEIZE S ATRAEDN txS DASH A C D L
87611-08-08 1/2" 12 08 47 31.7 24 7.75
87611-12-10 3/4" 16 10 51 41.3 32 8.76
87611-12-12 3/4" 20 12 51 41.3 32 8.76
87611-16-12 1" 20 12 56 47.6 38 9.53
87611-16-16 1" 25 16 57 47.6 38 9.53
87611-16-20 1" 32 20 61 47.6 38 9.53
87611-20-16 1.1/4" 25 16 65 54 44 10.29
87611-20-20 1.1/4" 32 20 66 54 44 10.29
87611-24-20 1.1/2" 32 20 75 63.5 51 12.57
87611 87611-24-24 1.1/2" 40 24 5] 63.5 &1 12.57
87611-32-24 2" 40 24 85 79.4 67 12.57
87911-32-32 2" 50 32 85 79.4 67 12.57

i A RPREATRAKRE. 2UFRATERRERSHII87612-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87612-XX-XX.

C56



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

45°SAE i£= 6000 PSI
45°SAE FLANGE 6000 PSI (ISO 12151-3--SAE J516)

Kke sume #%% HOSE BORE R~ DIMENSIONS

PART NO. FLANGESIZE [ x=on| 452 DASH| A | C | D | H | L

A 87641-08-08 1/2" 12 08 58.9 31.7 24 24 7.75
W‘ 87641-08-12 1/2" 20 12 74.9 | 31.7 24 27.5 | 7.75

v, /—// 87641-12-10 3/4" 16 10 725 | 413 32 28.2 | 8.76
I< K 87641-12-12 3/4" 20 12 79.2 41.3 32 31.8 | 8.76
87641-16-16 1" 25 16 90.2 | 47.6 38 34.7 | 9.53
&\/ 87641-20-20 1.1/4" 32 20 103.8 54 44 41.5 | 10.29
87641-24-20 1.1/2" 32 20 105.8 | 63.5 51 45.1 | 12.57
87641 87641-24-24 1.1/2" 40 24 116.2 | 63.5 51 45.5 | 12.57
87641-32-24 2" 40 24 125.4 | 794 67 54.7 | 12.57
87911-32-32 2" 50 32 135.7 | 79.4 67 52.7 | 12.57

i A RPRSATRAKE. 20FERTERKERSHI87612-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87612-XX-XX.

90°SAE iZ= 6000 PSI
90°SAE FLANGE 6000 PSI (ISO 12151-3--SAE J516)

re il % HOSE BORE R~ DIMENSIONS

PARTNO. FLANGESIZE | )\ziiZDN| #2 DASH| A © D H L
87691-08-08 172" 12 08 41 | 317 | 24 48 | 7.75
87691-12-10 3/4" 16 10 56.5 | 413 | 32 | 56.5 | 8.76
87691-12-12 3/4" 20 12 66.2 | 41.3 | 32 66 | 8.76
87691-16-12 T 20 12 66.2 | 47.6 | 38 69 | 9.53
87691-16-16 T 25 16 78 | 476 | 38 | 745 | 9.53
87691-16-20 = 32 20 915 | 476 | 38 | 855 | 9.53
87691-20-16 1.1/4" 25 16 78 54 44 | 78.5 | 10.29
87691-20-20 1.1/4" 32 20 91.5 | 54 44 | 89.5 | 10.29
c 87691-24-20 1.1/2" 32 20 915 | 63.5 | 51 | 94.5 | 12.57
87691 87691-24-24 1.1/2" 40 24 109.4 | 63.5 | 51 108 | 12.57
87691-32-24 2 40 24 109.4 | 79.4 | 67 | 116 | 12.57
87691-32-32 2 50 32 131.8| 79.4 | 67 | 136.3 | 12.57

T A RPRASHATRAKRE. 20FERTERRERSHII87692-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87692-XX-XX.

C57



HENRE L

SWAGED HOSE FITTING

Hiliz=

JIS FLANGE

£ 2D i Jx

XINDU HYDRAULIC

i 1 RPRSATR

88111

45°H#liE=
45°JIS FLANGE

(]

27\

RE. 2MHATEERENSKE88112-XX-XX,
NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88112-XX-XX.

re e & HOSE BORE R~ DIMENSIONS

SRS ALpe=el ATRAEDN #%S DASH A © D L

88111-10-08 5/8" 12 08 45 34.2 27.8 6.7 C
88111-10-10 5/8" 16 10 46 | 342 | 278 | 6.7

88111-10-12 5/8" 20 12 46 34.2 27.8 6.7

o ity
A ®e EEEE #%#& HOSE BORE R~ DIMENSIONS
-
M i PART NO. FLANGE SIZE AFRMEDN| 452 DASH A c D H L
Y /'/< 88141-10-08 5/8" 12 08 58.9 34.2 27.8 24 6.7
T X 88141-10-10 5/8" 16 10 70.1 34.2 27.8 25.3 6.7
o 88141-10-12 5/8" 20 12 76.2 34.2 27.8 28.8 6.7

i 1LRPRERTRENRE. 2 0FRTESRERSBE88142-XX-XX,

88141

90°Hilix=
90°JIS FLANGE

NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88142-XX-XX.

A re sEm e & HOSE BORE R~ DIMENSIONS

[ ANG

| PARTNO. FLANGESIZE | )\sxiDN| #S DASH| A c D H L
,/‘
/ 88191-10-08 5/8" 12 08 41 34.2 27.8 48 6.7
- r/ 88191-10-10 5/8" 16 10 56.5 34.2 27.8 52.5 6.7
88191-10-12 5/8" 20 12 65.5 34.2 27.8 62 6.7
D|
= N FRPRSHETRAKE. 2 0FATESERERSH88192-XX-XX,

88191

NOTE:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88192-XX-XX.

C58



MBS = i iR JE

SWAGED HOSE FITTING XINDU HYDRAULIC

WHEEE T
DOUBLE CONNECTOR

re & HOSE BORE R~ DIMENSIONS
PARTNO. AFRAEDN #72 DASH L
JDJZJ—FL 90011-04 6 04 69
90011-05 8 05 69
J_ULMMHLMUJ}MMMLL 90011-06 m 05 73
90011-08 12 08 77
L 90011-10 16 10 83
90011-12 20 12 93
90011-16 25 16 114
90011 90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170

iE: FTLHRIRE.  Note:For wire braid hose.

W EEET
DOUBLE CONNECTOR

R & HOSE BORE R~ DIMENSIONS
RS AFRAEDN 42 DASH L
A 90012-04 6 04 83
90012-05 8 05 87
I I l | 90012-06 10 06 87
90012-08 12 08 91
L 90012-10 16 10 97
90012-12 20 12 110
90012-16 25 16 134
90012 90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178

iE: FTLHRIRE.  Note:For wire braid hose.

C59



BERE VR E ik

SWIVEL HOSE FITTING

I E e IMRLL

NPT SWIVEL MALE

£ 2D i Jx

XINDU HYDRAULIC

A re i E & HOSE BORE R~ DIMENSIONS
@ %% SRS JLEESEE ~FRAZDN #xS DASH A S2
|7 —
] | 15611SW-04-04 Z1/4"X18 6 04 56 19
‘ 15611SW-06-06 73/8"X18 10 06 60 22
15611SW-08-08 Z1/2"X14 12 08 66 27
15611SW 15611SW-12-12 Z3/4"X14 20 12 68.4 32
fotc
ot EhEsE JMEN
NPT SWIVEL MALE
A Ke 85 E #%%& HOSE BORE R~ DIMENSIONS
eﬁ%% PARTNO. THREAD E AFKEDN | 452 DASH A s2
| ] 15611SW-04-04S Z1/4"X18 6 04 27.9 19
! HJ_LJ_“_“MJ_U 15611SW-06-06S 73/8"X18 10 06 27 22
15611SW-08-08S Z1/2"X14 12 08 30.9 27
E \S2 15611SW-S 15611SW-12-12S Z3/4"X14 20 12 33.4 32
o
90° ThiE EREFE ML
90° NPT SWIVEL MALE
re ¥Bar E & HOSE BORE R~ DIMENSIONS
S1 B
FARIT NG UHAEARIE ATRATEDN #xS DASH A H S1 S2
—b 15691KSW-04-04 Z1/4"X18 6 04 25 59.5 16 19
15691KSW-06-06 Z3/8"X18 10 06 25 64.5 16 22
15691KSW-08-08 Z1/2"X14 12 08 285 | 715 19 27
T 15691KSW-12-12 Z3/4"X14 20 12 36 76.9 27 32
15611KSW
- A =
SAE 5 O F2EhEfE IMBRN
SAE O-RING BOSS SWIVEL MALE
A re 1847 E ®%& HOSE BORE OXE R~ DIMENSIONS
IS PARTNO. THREADE | )\zrpyzDN| 472 DAsH | ORING A s2
S
w o 16011SW-08-06 3/4"X16 10 06 0908 57.5 27
d 16011SW-08-08 3/4"X16 12 08 0908 58 27
16011SW-10-08 7/8"X14 12 08 0910 59.5 27
16011SW-10-10 7/8"X14 16 10 0910 60.1 27
16011SW 16011SW-12-12 1.1/16"X12 20 12 0912 64.9 32




BERE VR E ik

SWIVEL HOSE FITTING XINDU HYDRAULIC

£ 2D i Jx

SAE 75 O e 1S heke MRS

SAE O-RING BOSS SWIVEL MALE

A re 1L E & HOSE BORE R~ DIMENSIONS
7 RS Ulala1=ai2A AFRAEDN | 55 DASH A S2

wl I F&X - 16011SW-08-06S 3/4"X16 10 06 49.9 27
16011SW-08-08S 3/4"X16 12 08 50.4 27

16011SW-10-08S 7/8"X16 12 08 51.9 27

s 16011SW-10-10S 7/8"X16 16 10 52.5 27
16011SW-S 16011SW-12-12S 1.1/16"X12 20 12 57.3 32

90°SAETHOR: B hEE MR

90°SAE O-RING BOSS SWIVEL MALE

re EBaE & HOSE BORE OFHE R~ DIMENSIONS
PARTNO. THREADE | j\gpzDN| #r2pasH| ORING | A | | 51 | 52
16091KSW-08-06 | 3/4"X16 10 06 0908 | 28.5 | 63.5 | 19 | 27
16091KSW-08-08 | 3/4"X16 12 08 0908 | 28.5 | 63.5| 19 | 27
16091KSW-10-06 | 7/8"X14 10 06 0910 | 28.5| 65 | 19 | 27
16091KSW-10-08 | 7/8"X14 12 08 0910 | 285 | 65 | 19 | 27
16091KSW-10-10 | 7/8"X14 16 10 0910 | 30.5 | 65.5 | 22 | 27
E 16091KSW
o == A ==
90°SAE 7 Oz B hiEik /MEN
90°SAE O-RING BOSS SWIVEL MALE
A Re By E #%& HOSE BORE R~ DIMENSIONS
%/ r;l PARTNO. THREADE | A#Ri#DN| %2 DASH| A | H | S1 | s2
; 4/_ 16091KSW-08-06S 3/4"X16 10 06 23 | 559 19 | 27
! 16091KSW-08-08S 3/4"X16 12 08 235 | 55.9 | 19 | 27
S2 16091KSW-10-06S 7/8"X14 10 06 23 | 579 19 | 27
T ‘ 16091KSW-10-08S 7/8"'X14 12 08 235 | 57.9| 19 | 27
éﬁ 16091KSW-10-10S 7/8"X14 16 10 25 57.9 22 27
NN

E_| 16091KSW-S




	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90

